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CAT 1 Steno Typist English CET Exarn
Group Marks: 200

CAT 1 Steno Typist English CBET Exam

Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 1680001 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Which of the following archaeological sites has yielded the evidence of the existence of Mauryan Period?
Options:

1 % Banawali

> % Mitathal

= % Rakhi Garhi

4  Sugh

Question Number : 1 Question Id : 1680001 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical
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Rrafafea quarfcas wwet # @ #a1 W 7Y #e F 3fEac @ gAwT Fer g2
Options:

| % FeATSOIT

o B ﬁ':'lT-ITilFT

4 ¢ 3

Question Number : 2 Question Id : 1680002 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Yaudheyas were a:

Options:
1 % DBactrian clan
- % Dravidian clan

= « Indo-Iranian clan

, % Scythian clan

Question Number : 2 Question Id : 1680002 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

T FiT A7

Options:

| AT FE

. SARTT FE

. » SEI-sufaTs weer

., » TRTSIIT e

Question Number : 3 Question Id : 1680003 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Which of the following inscription refers to Yaudhevas as the tributaries of Gupta empire:

Options:
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, « Allahabad Pillar Inscription of Samudragupta

- % Delhi Iron Pillar Inscription of Chandra

- » Poona Plates of Prabhavatigupta

, % Tumain Inscription of Kumargupta

Question Number : 3 Question Id : 1680003 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

frefafa # & 7 a1 Ree 7a =T & @@t & &9 &7 a3t F g 82
Options:

» GHGTIE @l Sellgldle = Pemew

1

. % g1 & e g w9 Remew

o TAECET HT A ATHTS

, % DANEC B A B CIELC]

Question Number : 4 Question Id : 1680004 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Which of the following Chinese Buddhist monks visited Thanesar?
Options:
, w An Shigao

> % Fa-Hien
-  Hiuen Tsang

4 ® 1Tsing

Question Number : 4 Question Id : 1680004 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

fafof@a I dle Bt 7 9 e aaeR & g R ar?

Options:

, % TeT TEmaT
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Question Number : 5 Question Id : 1680005 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Haryana is observing the year 2017 as:
Options:

, » BalKalyan Varsh

- % Mahila Kalyan Varsh
-  Garib Kalyan Varsh

, % Pashu Kalyan Varsh

Question Number : 5 Question Id : 1680005 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

T, Y 2017 W F T A AT G
Options:
| % ST FegoT 9y

. % AT FHedroT Iy
5 v TUF FHeAToT T

g9 FHeAToT IY
4 ® 2

Question Number : 6 Question Id : 1680006 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

As per the Economic Survey of Harvana (2016-17). the contribution of the primary sector to GSVA
(Gross State Value Added) in Harvana was approximately:

Options:
1 17.8%

> % 5.1%
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5 % 80.3%

4 % 40.8%

Question Number : 6 Question Id : 1680006 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

g & anfie w5 (2016-17) & @R TRANT F Fad T=F Hed a9 (Svwdn) F guide &y
T TITETT ST 2T
Options:

L v 17.8%
- % 5.1%
5 % 80.3%

4 % 40.8%

Question Number : 7 Question Id : 1680007 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

As per the announcement by the Ministry of Chemicals and Fertilizers, Pharma Park will come up in the
district of Haryana.

Options:
1 « Karnal

-~ % Sonipat

- % Panipat

4 % Faridabad

Question Number : 7 Question Id : 1680007 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

TER AT 397 AT gaRT I SN0 F AR, BIRT 9T g & foer & TR
T S|
Options:

1 chidlel

glwl':ﬁ?ﬁ":l?

S_HW

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 2



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 2

4 % TUCTEE

Question Number : 8 Question Id : 1680008 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Which of the following districts of Harvana hosted the first ever International Gita Mahotsav?
Options:
1 % Karnal

> % Sonipat

3 « Kurukshetra

4 % Faridabad

Question Number : 8 Question Id : 1680008 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

g & FefEa 7 3 w9 @ & 3 9ge a) ausay War Agcg S AeErEr S o

Options:
1. % ohleTel

g_wltﬁ?-ﬁ":l?
FOETT

S A

4&3@3’“

Question Number : 9 Question Id : 1680009 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Name the poet from Bhiwani who wrote ‘Shyam Satsai’.
Options:
, % Ishwar Chandra Pandey

- % Gemini Haryanavi
= « Tulsiram Sharma Dinesh

, w Hari Singh Dilbar

Question Number : 9 Question Id : 1680009 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical
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‘9UTH Fags oEs T et & i 7 e 2w 32

Options:

| % B Teg T3

, w SATHeT gRITOTEr

. o TOURIA AT T

4 M g e feaex

Question Number : 10 Question Id : 16800010 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Name the writer of the book ‘Jin Khoja Tin Paiyan’. a collection of short stories.

Options:
, « Ayodhya Prasad Goyaliya

> % Tushar Raheja
5 % Prem Chowdhary

4 #% Naresh Kumar Sharma

Question Number : 10 Question Id : 16800010 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

oY FAHT F U HIg T Gia faa 9890 qede & 9@ &1 J1F ad8:

Options:

Question Number : 11 Question Id : 16800011 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Name the freedom fighter and the literary genius in whose memory the Government of Haryana established a museum
in Sirsa.
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Options:
, % Mehar Singh

-~ » Balmukund Gupta
5 % Joginder Singh

4 + Liladhar Dukhi

Question Number : 11 Question Id : 16800011 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I TEAIAT BT AR Tfglcas 9T F A1 §a15T S T # gRIwT WER A TR 7
HIETOT AT BT # T B
Options:

|« FE TEE

, % TIEE T

2 % Sifeex f&g
4. v w

Question Number : 12 Question Id : 16800012 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following states does not share its boundary with Haryana?
Options:

1 % Uttar Pradesh

- % Punjab

- » Rajasthan

4  Gujarat

Question Number : 12 Question Id : 16800012 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=efRa 7 @ e usg o g fr dar 78 Bedr 22

Options:
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| % 3cal Heqr
o % 9IS

z % STElA
4 ¢ 23

Question Number : 13 Question Id : 16800013 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which city in Haryana has the highest population?
Options:
1 « Faridabad

> % Ambala
=z % Bhiwani

4 % Rohtak

Question Number : 13 Question Id : 16800013 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T F & ey Fr IEEET §ey ¥eE 22
Options:

5 % 3{ETel
g_wﬁﬁ'l?-ﬁ'

4 % UBdH

Question Number : 14 Question Id : 16800014 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

district is known as Sripad Janapad.

Options:
1 % Ambala

> « Kurukshetra
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= % Karnal

4 % Faridabad

Question Number : 14 Question Id : 16800014 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

B & Aiue Faue & J17 ¥ J1aT ST B

Options:
1 ® HETel

ETTAE]

2. 3

4 % TCTEIG

Question Number : 15 Question Id : 16800015 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ZEE Media Chairman Mr Subhash Chandra, supported by the . won a Rajva Sabha seat from Haryana.

Options:
L % Congress

> w Aam Aadmi Party

3. v BIP

4 % Akali Dal

Question Number : 15 Question Id : 16800015 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

S AfETT F semar & gy uF A ¥ FAYA W Hoh, ERAT & T He Sdr o)
Options:

1@m

. w HTH 3TEHT et
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Question Number : 16 Question Id : 16800016 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Which political leader of Harvana is known for his commendable work for the betterment of farmers?
Options:
, » BhajanLal

-  Chaudhary Devi Lal

=z % BansiLal

4 % Om Prakash Chautala

Question Number : 16 Question Id : 16800016 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T & e TaETaE 307 & FEEr # see & T 5 T 39% seEaT it F o
ST ST 87

Options:

, % ST o

o o =l & e
z ® ﬁ'ﬁfﬂ'lﬁ'

4 ® 3IF geprer Siererm

Question Number : 17 Question Id : 16800017 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Indian National Lok Dal (INLD) is led by:
Options:

1 # A.S. Chautala

> % B.S.Hooda

= « O.P. Chautala

4 % O.P. Dhankar

Question Number : 17 Question Id : 16800017 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT T e & (INLD) & Aged id & &7 87
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Options:

o d1.0H. gest
5 ALY Slerer

Question Number : 18 Question Id : 16800018 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Voter turnout for the assembly election held on 15 October 2014 set a new state record with a turnoutof
Options:

1 % 70.14%

~ % 72.34%

2 % 74.45%

4 & 76.54%

Question Number : 18 Question Id : 16800018 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

16 3feFgaT 2014 = RS faemegen I=re H AdeTarst Hdeld Fi{a TF 7
=T =i gaman|
Options:

% 70.14%
o % 72.34%
2w 74.45%

. v 76.54%

Question Number : 19 Question Id : 16800019 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Municipal Corporation of Gurugram has planned to set up a waste-to-energy plant with the help of a
company in Bandhwari.

Options:
1 +« Chinese
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» % Japanese

=z % South Korean

4 w Malaysian

Question Number : 19 Question Id : 16800019 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TR FR TEE & suar # FIAT FT AGE T TF HISC-T-FaAT §IAT TATOT I T
AT TS B

Options:

| T
> % SATOTEAT
, « GIeT s

Question Number : 20 Question Id : 16800020 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Three of the following together are called “Tricity’. Find the odd one out.

Options:
1 « Ambala

- % Panchkula

- % Chandigarh

4 % Mohali

Question Number : 20 Question Id : 16800020 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tafef@a 7 @ &9 1 TEfidr g Jar g1 389 Fr 9g=T F:{
Options:
| v 3T

U<eholl
2_&1 o
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- B ﬂéli E.

4%"13'#[

Question Number : 21 Question Id : 16800021 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Haryana is the nation's most populous state according to the 2011 census.

Options:

> % 160
s % 18h

5w 158

Question Number : 21 Question Id : 16800021 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2011 & S0 & HFJAR ERATOT A H TET HOF HERT arel T=7 gl

Options:

| @ 17ar

5 % 16aT
- » 18aT

4 % 153

Question Number : 22 Question Id : 16800022 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

All of the following districts in Haryana are famous for Zari Jutti EXCEPT:
Options:
1 % Karnal

« Sonipat

2

% % Hisar
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4 « Sirsa

Question Number : 22 Question Id : 16800022 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ghamT & Pemfafe wh o 7@ gf & fe 9w § @ o

Options:

1_&%?13{

Question Number : 23 Question Id : 16800023 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The edition of the Sohna Car Rally was organised in the year 2017.

Options:
1 ® 21st

> « 53rd
z R 87th

g 4th

Question Number : 23 Question Id : 16800023 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HIgaT &7 & & TTHI0T 9N 2017 F FOTeT &har T O

Options:
1 ® 21Eﬂ-

5> 53T
- % 87T

4_u?ﬂ9-lT

Question Number : 24 Question Id : 16800024 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 2



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 2

Which among the following is a popular breed of buffalo in Haryana?
Options:
1 « Murrah

> % Jaisti
5 % Singora

4 % Philnur

Question Number : 24 Question Id : 16800024 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g # e 7 o 7 O 849 &t 90T 91 g7

Options:

1.9 =2

zﬁm

Question Number : 25 Question Id : 16800025 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following places in Haryana is famous for basketry?

Options:
, = Qurugram

> « Faridabad
- » Jhajjar

4 % Sirsa

Question Number : 25 Question Id : 16800025 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TR 7 ¥ 7 @ o 2Eor # a5l 79 & v gfag 7

Options:
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Question Number : 26 Question Id : 16800026 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The diphthong ‘ow” and *u’ are written in vowel place.
Options:

~md
1. % <

Question Number : 26 Question Id : 16800026 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The diphthong ‘ow” and *u’ are written in vowel place.
Options:

~md
1. ® <

Question Number : 27 Question Id : 16800027 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a phrase the words are represented by the “n™ hook.

Options:
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1 « own and on
> % onandin
= % own and not

4 % have and of

Question Number : 27 Question Id : 16800027 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a phrase the words are represented by the “n™ hook.
Options:

1 « own and on

- % onandin

= % own and not

4 % have and of

Question Number : 28 Question Id : 16800028 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The doubling principle is not used in the
Options:
1 % future tense

-  Dbasttense
- % Dpresent tense

4 % Present continuous tense

Question Number : 28 Question Id : 16800028 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The doubling principle is not used in the
Options:
1 % future tense

o  Dbasttense
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- % Dpresenttense

4 % Dpresent continuous tense

Question Number : 29 Question Id : 16800029 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vowel 80 is represented by a
Options:
, » Heavy dot

> u Lightdash

- % Lightdot

4  Heavy dash

Question Number : 29 Question Id : 16800029 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vowel 00 is represented by a
Options:
, » Heavy dot

- » Lightdash

- % Lightdot

4  Heavy dash

Question Number : 30 Question Id : 16800030 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

A heavy M represents

Options:
1w Mp

o R Ml
= #% Mr

4 #® Md
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Question Number : 30 Question Id : 16800030 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A heavy M represents

Options:
1w Mp

o R Ml
= W Mr

g Md

Question Number : 31 Question Id : 16800031 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Lity’, preceded by any vowel, is expressed by
Options:
, % Joining the preceding stroke

- % Doubling the preceding stroke

-  Disjoining the preceding stroke

, w» Halving

Question Number : 31 Question Id : 16800031 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Lity’, preceded by any vowel, is expressed by
Options:
, % Joining the preceding stroke

> % Doubling the preceding stroke

-  Disjoining the preceding stroke

, » Halving

Question Number : 32 Question Id : 16800032 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

G series are strokes written.
Options:
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1 % Backward
- w Upward
= « Forward

4 % Downward

Question Number : 32 Question Id : 16800032 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

G series are strokes written.
Options:
1 % Backward

> % Upward
= « Forward

4 % Downward

Question Number : 33 Question Id : 16800033 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Downward L is halved and to indicate a following d.
Options:
, w Lightened

- % Doubled
3 % Halved

4 + Thickened

Question Number : 33 Question Id : 16800033 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Downward L is halved and to indicate a following d.
Options:
, % Lightened

> % Doubled
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3 % Halved

4 + Thickened

Question Number : 34 Question Id : 16800034 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vowel i is a vowel.
Options:
, » 1% place

3™ place

jnd

place

4% 4% place

Question Number : 34 Question Id : 16800034 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vowel i is a vowel.
Options:
, = 15 place

3t place

End

place

o 4% place

Question Number : 35 Question Id : 16800035 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The downward R is used before
Options:
1 M

Q_WN

3.%1_
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Question Number : 35 Question Id : 16800035 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The downward R is used before

Options:
1 @ M

2_%]:‘3

Question Number : 36 Question Id : 16800036 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An Intersection represents the word limited.

Options:
1 ® Pl

Question Number : 36 Question Id : 16800036 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An intersection represents the word limited.

Options:
1 # Pl

>« L

3 % ler

Question Number : 37 Question Id : 16800037 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The stroke n is halved and to indicate a following d.
Options:
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1 « Thickened
> % Halved

5 # Lightened

4 % Doubled

Question Number : 37 Question Id : 16800037 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The stroke n is halved and to indicate a following d.
Options:
1 +« Thickened

~> % Halved

- » Lightened

4 % Doubled

Question Number : 38 Question Id : 16800038 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a word ends with the combination of *vowel +r’. use a/an A
Options:
, % Upward

> « Downward

= % Horizontal

4 % Vertical

Question Number : 38 Question Id : 16800038 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a word ends with the combination of *vowel +r’°. use a/an 2 2

Options:
, % Upward

> « Downward
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= % Horizontal

4 % Vertical

Question Number : 39 Question Id : 16800039 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The loop is not used at the beginning of a word.

Options:
1 & S
> R Sd

T W 5t

4 « ster

Question Number : 39 Question Id : 16800039 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The loop is not used at the beginning of a word.

Options:
1 #® S
o B Sd

T W St

4 « ster

Question Number : 40 Question Id : 16800040 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The small semi circle is used as an abbreviation for w at the beginning of :

Options:
1 ® L
o o M

S_WN

4 % PI

Question Number : 40 Question Id : 16800040 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The small semi circle is used as an abbreviation for w at the beginning of

Options:
1 & I

>« M
E_WN

4 % Pt

Question Number : 41 Question Id : 16800041 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

MR i Y

Options:
1.¢ A

E_WB

3%':

Question Number : 41 Question Id : 16800041 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

Y -

Options:
1.¢ A

E_WB

Question Number : 42 Question Id : 16800042 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

D 1

Options:
1.¥ A

E.WB

Question Number : 42 Question Id : 16800042 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

T

II'.-' — —f \3\

“I

D 1

Options:
1.¥ A

E.WB

Question Number : 43 Question Id : 16800043 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

A -
v..—'-_ﬁ T —
B \'\-\. |
C 5 -
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Options:
1 & A

>« B
3. % C

4 % D

Question Number : 43 Question Id : 16800043 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

D

Options:
1 ® A

> « B
3. % C

4 % D

Question Number : 44 Question |d : 16800044 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

] N 2
/’[_‘_f o

L] "."..

D \'
Options:
1 ® A
o W B

3¢ C

4 % D

Question Number : 44 Question |d : 16800044 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

/ 1 N x
-~ s l__/_ N

g iy

Options:
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Question Number : 45 Question Id : 16800045 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

D

Options:
1.¥ A

E.WB

Question Number : 45 Question Id : 16800045 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

D

Options:
1.¢ A

2_%]3

Question Number : 46 Question Id : 16800046 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose your answer from the options given:

Today the homestead looks much as it didin ~ 1880s:  neat cluster of whitewashed, red-roofed buildings seton
sheltered bay, flanked by green hills and jagged. snow-streaked Andean peaks.

Options:
| « the.a a
> % 8 the. the

5 % a. a. the

4 % 8,8,

Question Number : 46 Question Id : 16800046 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Fill in the blanks in the sentence below with suitable articles. Choose your answer from the options given:

Today the homestead looks much as it didin  1880s: neat cluster of whitewashed, red-roofed buildings seton
sheltered bay, flanked by green hills and jagged, snow-streaked Andean peaks.

Options:
1w the.a. a

5 % & the, the
5 % & a the

4 % 2,8,

Question Number : 47 Question Id : 16800047 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose your answer from the options given:

Harberton was  working sheep ranch until  mid-1990s, when falling wool prices. poaching, wild dog attacks and
particularly harsh winter that wiped out 80% of  livestock prompted the move into tourism.

Options:
L% the, the, a, the

> 8 the. a. the
5 % the, a, the, the

4 % 8 athe, the

Question Number : 47 Question Id : 16800047 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose yvour answer fiom the options given:

Harberton was  working sheep ranch until  mid-1990s, when falling wool prices. poaching, wild dog attacks and
particularly harsh winter that wiped out 80% of __ livestock prompted the move into tourism.

Options:

1% the, the, a. the
> 8 the a, the

5 w the. a. the, the

4 % 88 the. the

Question Number : 48 Question Id : 16800048 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Fill in the blanks in the sentence below with suitable prepositions. Choose vour answer from the options given:

Located  a peninsula jutting out  the gunboat-grey Beagle Channel. Estancia Harberton was founded 1886
British missionary Thomas Bridges.

Options:

1 R in, under, on, by

5 R under, in, in. by
5  On, into. in. by

4 % off. over, in, by

Question Number : 48 Question Id : 16800048 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable prepositions. Choose vour answer from the options given:

Located  apeninsula jutting out  the gunboat-grey Beagle Channel. Estancia Harberton was founded 1886
British missionary Thomas Bridges.

Options:
L ® in, under, on, by
5 R under, in, in. by

5 o On. into, in. by

4 R off. over, in, by

Question Number : 49 Question Id : 16800049 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Choose yvour answer from the options given:

There only be one maistu at a time, and in order to become one, you must devote your life to learning the
techniques from the existing master.

Options:
1. ¢ can
- % could

3 % have

4 % ought
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Question Number : 49 Question Id : 16800049 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Choose vour answer from the options given:

There only be one maistu at a time, and in order to become one, you must devote your life to learning the
techniques from the existing master.

Options:
1. v can

> % could
z % have

, % ought

Question Number : 50 Question Id : 16800050 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sentence is given in four parts as options. One of the parts contains an ervor. Choose the option that has the ervor:
Options:

1 Each springs. under the cover of darkness and guarded

- % by members of the Italian Coast Guard. 62-year-old Chiara Vigo

- % slips on a white tunic, recites a prayer and plunges

, % headfirst into the crystalline sea off the tiny Sardinian island of Sant” Antioco.

Question Number : 50 Question Id : 16800050 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sentence is given in four parts as options. One of the parts contains an errvor. Choose the option that has the error:
Options:
1 Each springs. under the cover of darkness and guarded

> % by members of the Italian Coast Guard, 62-year-old Chiara Vigo

- % slips on a white tunic. recites a prayer and plunges

, % headfirst into the crystalline sea off the tiny Sardinian island of Sant” Antioco.

Question Number : 51 Question Id : 16800051 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Choose the option that offers the correct synonym of the highlighted word in the sentence given below. Pay attention o
the meaning of the highlighted word in context of the sentence:

Tierra del Fuego. a remote, windswept archipelago at the bottom of South America. might offer little in terms of animals
and trees, but when it comes to lichen, fungi and bryophytes (the collective name for mosses, liverworts and hornworts) it
is among the richest corners of the planet.

Options:
, w» nhearby

- % device
3 « distant

4 % known

Question Number : 51 Question Id : 16800051 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct synonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in context of the sentence:

Tierra del Fuego. a remote, windswept archipelago at the bottom of South America, might offer little in terms of animals
and trees, but when it comes to lichen, fungi and bryophytes (the collective name for mosses, liverworts and hornworts) it
is among the richest corners of the planet.

Options:
, w nearby

> % device
= « distant

4 % known

Question Number : 52 Question Id : 16800052 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct antonym of the highlighted word in the sentence given below. Pay atfention to
the meaning of the highlighted word in context of the sentence:

The minute plants play host to even smaller insects, snails and other creepy crawlies.
Options:
1 ® Wwee

5 % puny

3 glant
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4 % significant

Question Number : 52 Question Id : 16800052 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct antonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in context of the sentence:

The minute plants play host to even smaller insects, snails and other creepy crawlies.

Options:
1 #® Wege

o % puny

5  Slant

4, = significant

Question Number : 53 Question Id : 16800053 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

From the options given below, choose the sentence that has the conjunctions used correctly:
Options:
, « Scarcely had I gone, when my daughter returned home.

> % Scarcely had I gone, then my daughter returned home.
- » Scarcely had I gone, than my daughter returned home.

4 % Scarcely had I gone, while my daughter returned home.

Question Number : 53 Question Id : 16800053 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the sentence that has the conjunctions used correctly:
Options:
Scarcely had I gone, when my daughter returned home.

1. ¢
- % Scarcely had I gone, then my daughter returned home.

- % Scarcely had I gone, than my daughter returned home.

, = Scarcely had I gone, while my daughter returned home.
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Question Number : 54 Question Id : 16800054 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the word that can be used as a relative pronoun:

The girl and her pet dog  trespassed on the club premises were turned out.

Options:
1 % whom

> % who
%z % which

4 « that

Question Number : 54 Question Id : 16800054 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the word that can be used as a relative pronoun:

The girl and her pet dog  trespassed on the club premises were turned out.

Options:
1 % whom

> % who
3 % which

4 « that

Question Number : 55 Question Id : 16800055 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below choose the one that has been spelt correctly to form a proper sentence:

Vigo has an knowledge of 124 natural dye variations made from fruits, flowers and seashells.
Options:
, = encyclopeadic
- u encycloepaedic
% encyclopaedac

=

4  encyclopedic
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Question Number : 55 Question Id : 16800055 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below choose the one that has been spelt correctly to form a proper sentence:

Vigo has an knowledge of 124 natural dye variations made from fruits, flowers and seashells.
Options:
, = encyclopeadic

- u encycloepaedic

- % encyclopaedac

4  encyclopedic

Question Number : 56 Question Id : 16800056 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o @ ¥ 5 v avg @ =fET & 9y g ¥, 97 T4 8-

Options:

| w SHfcETEs AT

> v cHieddTeh Hl

5 % HTFETES Tl

, « TEEETS g4

Question Number : 56 Question Id : 16800056 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o w1 ¥ el o aeg 7 =fdT = A @ ¥, 9% g b

Options:

gl :
| ® SAdaTeR Gl

> v SHiedaTHeh Hl

5 % SATFATHE Tl
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, « TEEETS g4

Question Number : 57 Question Id : 16800057 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

orm 3R & Fuit & TRefeT @ & 98 3R g
Options:

1.9 3

> % dHh
T ECqEH

4 % 39AT

Question Number : 57 Question Id : 16800057 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

5w arePR # Fuit #r gAvgied @i § a8 e grem-
Options:

1. o
> % UHR
I ECQE“

4 % 3TAT

Question Number : 58 Question Id : 16800058 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Oifcass’ 2SS & Tk SarH gem-
e

5w e

5% T

4_;?31?%
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Question Number : 58 Question Id : 16800058 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Oifcass 2AeE & Taleh ST gem-
Options:

1. % IE”E
o ® 3-11?-!1"2’!3

4 v JHEF

Question Number : 59 Question Id : 16800059 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Y TS 39 g F TSk g1 W a9 F [Wiiehd HerEa # Hel 7Y g

Options:

| % ST greReT|

. » TE-TE AT T

5 v ST T G g

, % TS T8 FHoAAT HIAT|

Question Number : 59 Question Id : 16800059 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

7Y st e 3 & vEes € 59 990 & (Wifed HEEl F HEr HY g
Options:

| % ST grehe

. « FE-TE o T

5 T T AT g

, » TE T FEAAT HIAT

Question Number : 60 Question Id : 16800060 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Tedied e & g B=oe gFm-

Options:
1« g + 34

5 % deg + Fod
s % Teal + T

4 % TeE + AT

Question Number : 60 Question Id : 16800060 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tealed e & g B=oe gem-

Options:
1« g + 34

5 % deg + Fod
;% Teal + &7

4, % T + A

Question Number : 61 Question Id : 16800061 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIT-T TEFT H HIET Feh FI AT g3 &7

Options:

i mmagﬁ?rm%l
. » JEIhd IR T AT
. w 38 FEL AT g

, v T 7w e B

Question Number : 61 Question Id : 16800061 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIT-T TEFT H HIET Feh FI AT g3 &7

Options:
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| » PR 9gd & 30T g

i @ag I Fr T HfAT

. % 3° aET AT g

, v T W B R B

Question Number : 62 Question Id : 16800062 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

| 797 # Ags-arfde 1 BIg 90T & I8 ™ ge-

Options:

1. * ﬁ?q_‘ﬂ-

. o EENT R

4 #® &7 TH

Question Number : 62 Question Id : 16800062 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

59 7o & Fs-afde &1 g 9va & 987 @ -
e

o ox Vg T

5 v AR PR

g &0 ITH

Question Number : 63 Question Id : 16800063 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T e & Fie-01 TAW TARS £7

Options:
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| % HHURT TAH

> w HOUIATET TATH

3o THRIE

, & TCTEY HATH

Question Number : 63 Question Id : 16800063 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TR e & F-01 TAW TART £7

Options:

| % HHURT TAH

> w HOUIATET TATH

3o THRIE

, & OCIEY HATH

Question Number : 64 Question Id : 16800064 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T FTETAT FIT £ 3 FEd B
Options:

1. = Fﬁ'&ﬁ-‘:
- B mﬁ
=g

5 ® 2

4 v HATeE®

Question Number : 64 Question Id : 16800064 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ST HTE=AT T § 35 Fed B
Options:

Laslq?iﬂ'&ﬁl-?

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 2



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 2

gl&mﬁ
Ic i)

T W a3

4 v HATeldes

Question Number : 65 Question Id : 16800065 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Tl T AT A &F H Tolr SAlpliad & Fal FY gem-

Options:

. % BH ST HI AGAl P g T A1eV|

3TAT FE GE FA AR

.

o % ShEel H T FHS TgeT TR

. o F FET A & 3 FE =T oera B

Question Number : 65 Question Id : 16800065 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Tl T AT A &F H Tolr SAlpliad & Fal FY gem-

Options:

. % BH ST HI AGAl P g T A1eV|

3TAT FE GE FA AR

.

o % ShEel H T FHS TgeT TR

. » T & EIaT § 3H FET =T o9 g

Question Number : 66 Question Id : 16800066 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The total number of even factors of 2° x 32 x 57 is:
Options:
1 % 65
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o W 30

T W 10

4 o 60

Question Number : 66 Question Id : 16800066 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2° x3°x 5% ¥ mH UGS W Hol HEAT ¢

Options:

1 ® 65
o> R 30
z B 10

4 v 60

Question Number : 67 Question Id : 16800067 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The average of the first 50 positive integers is:
Options:
1 o 255

Lh

2_%2

Question Number : 67 Question Id : 16800067 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ugel 50 GeTcHS Ui & TS &

Options:

. v 255
o B 25

. % 6375
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L % 258

Question Number : 68 Question Id : 16800068 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A person deposits T 1,000 each on 1 January and 1 July in a year. The compound interest obtained at the end of the year.
if the interest is 10% compounded half yearly. is:

Options:
; & %155
> % T152

3 o T152.5

4 % T158

Question Number : 68 Question Id : 16800068 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

UF AfFd TF I A 1 FAad A 1 oS F T 1,000 AT FIA gl TG =T H X 10% g A sm=
el goifeg g &, O 9 & 39 F 9rg @I Ien TRt o §

Options:

. % % 155
> % T 152
2« T 1525

. % % 158

Question Number : 69 Question Id : 16800069 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A person’s salary increased by 5026 and then decreased by 50%. His gain or loss percentage is:
Options:

, % 25% gain

> « 25% loss

3 % 75% loss

4 ® 15% gain
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Question Number : 69 Question Id : 16800069 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

U TFd & ddd H 50% FT ghF Hr A § 3’ BT 50% FH T & 1 g1 SHFT o A qMhA
gfaera &
Options:

| % 25%
5 & 25%

o x 75%

4 D B H

L % 75%

Question Number : 70 Question Id : 16800070 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If roots of the equation x* + bx + ¢ = 0 are two consecutive odd numbers, then b* —4¢ =7

Options:
1 & —4

2 4

Question Number : 70 Question Id : 16800070 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IfE THEROT x% + bx + ¢ =0 F FqF & FAFT 97 TEAW §, aF b% —4c =7

Options:
1 & _4

2. 4
3 % 2

4 % —2

Question Number : 71 Question Id : 16800071 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

" 8 4
X and Y together have X 700. IfZ of X's share is equal to 77 of Y’s share. Then what is the amount that Y has?

Options:
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;v 600
> % T160
5 % T100

4 % T500

Question Number : 71 Question Id : 16800071 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

X R Y & o0 For B T 700 ¥ AR X S RE A am Y F REEF - g F W &, A
Y & o et ety §7

Options:

, v T 600
. % % 160
- % % 100

. % % 500

Question Number : 72 Question Id : 16800072 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A person covers a road trip in 15 hours. He travels half trip at 20 kmph and second half at 25 kmph. Then the total road
trip in km is: (Round to one decimal place)

Options:
1 % 333km

> % 330.3km
3 « 3333 km

4 % 3233 km

Question Number : 72 Question Id : 16800072 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T cAfdd Teh WSH-ATH & 15 Tl H G T g1 Jg I & 9gen 3 &1er 20 fGrvae R g
37T ST 25 fRA/EE F WS F a7 FaT g1 HH-A A Hl g1 AT H &
(am#wmamqgﬁﬁmm?m

Options:

% 333 falr
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, w 330.3 ffr
2 v 333.3

. % 323.3 frf

Question Number : 73 Question Id : 16800073 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

To finish a work, X takes thrice as much time as Y or twice as much time as Z. If they all work together, they can finish
the work in 4 days. If Z works alone. the number of days taken to complete the same work is:

Options:
1 ® 8

2_%24
3_%5

4 ¢ 12

Question Number : 73 Question Id : 16800073 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TS HY H FATT L H 0w X @ O Fe aren w67 Y @R ol I et wA & & g ar
Z R O S I wAT @ A g1 IfE 3 e ee w1 wa €, & 3 w1 # 4 G 7 waved
FT TR 21 T Z el FF T &, a7 3 FF F AT A F BT seens A Fr gem
Options:

1_%8

o B 24

4 v 12

Question Number : 74 Question Id : 16800074 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A milkman possesses 30 litres of milk. From this milk container. he removes 3 litres of milk and replaces it with water.
To obtain the profit. he repeats this process further two more times. So. finally. the amount of milk in the container is:

Options:
1 % 22 lifres

> « 21.87 litres
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3 % 21 lifres

4 % 21.5 litres

Question Number : 74 Question Id : 16800074 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ueh gHETel % IrH 30 Y &Y Bl 3W g & fBed ¥ a% 3 ofiex gy fawe &ar ¥ 3R g I3 & 9

e gar g1 @ #faa wa % v a7 sw 9fhar @t g ar 3R gewar g1 39 # Fe F gy
Framr e

Options:

| % 22 ®el
5« 21.87 7
- % 21 @et
4 % 215 #ET

Question Number : 75 Question Id : 16800075 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ol

The owner of a shop expects a gain of 25% on his cost price. If his sale was ¥ 500, then his profit would be:
Options:

1« X100

> % X400

2 % T200

4 % T150

Question Number : 75 Question Id : 16800075 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

UH HFEER 39 HT Ao W 25% & e HT 38T HIAT g1 TG 3T 9T T 500 off, A 38F g@RT
HTT e g

Options:
| « T100
> % 400

- = %200
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4 % T150

Question Number : 76 Question Id : 16800076 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A block of wood floats in water such that one-fifth of its volume is under water. Let ¢}, and d,, be the density of the
block and water respectively. Then dy/d,, is:

Options:
1 ® 0.1

o 0.2
=z ® 2.0

g #® 5.0

Question Number : 76 Question Id : 16800076 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TFE FT TF SolleF e H SH FFN R ¢ o SHFT ur=ar o7 a=ir & 7= g1 717 At 4 3% 4,
FHY: =ik AR 9T T ouaes § ar dp/ld, E

Options:
1 ® 01
z B 20

4 R 5.0

Question Number : 77 Question Id : 16800077 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is thrown vertically upwards and rises to a height of 19.6 m. The speed with which it was thrown is:
Options:

1 % 4.8m/s

> % 9.6m/s

z % 144 m's

4 « 19.6 m's
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Question Number : 77 Question Id : 16800077 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

fordir 3Fg Fr seateR e # I Fr AT BF I 7 A 7@ 19.6 FHex F FE % Jr 21 59
ey Fr T &

Options:

4 v 19.6 H/AFE

Question Number : 78 Question Id : 16800078 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is placed on the principal axis of a concave mirror at a distance greater than twice its focal length. How the
image formed by the mirror can be described?

Options:
1 + Real and Diminished

- % Realand Enlarged

- u Virtual and Enlarged

4 % Virtual and Diminished

Question Number : 78 Question Id : 16800078 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

BdT a5g #T 3EdT EUUT & HET e Y@ W SHEAT Bled oFas H, e & HUF gl W @ AT ¢
SUUT ZENT TS TE ofY F FH IO TFAT ST FeRaT 27

Options:
1_Jaﬁﬁ$3ﬂTﬂﬁﬁ'a

., » ATEAEE AR HER F T8
L x HTHTEN AR 3ER F T2

Lk 3T AR FFEE
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Question Number : 79 Question Id : 16800079 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a ray of light passes from air to a slab of ice, it bends
Options:
, w» away from the normal and slows down.

> « towards the normal and slows down.

- % away from the normal and speeds up.

, % towards the normal and speeds up.

Question Number : 79 Question Id : 16800079 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e Aerelr F BOT g ¥ AN g 9% F TS ¥ I 8, O T

Options:

THET ¥ T g5 S § AR afe F el @ s 2

1.

, THEE B RWE JS S § AR T 7 e g e

AT ¥ &Y A g 3R AT A g S g

=

HATT & WE 73 AGr § AR aifad AF & 1w g

4 ®

Question Number : 80 Question Id : 16800080 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is placed at a distance of 30 cm in front of a convex mirror of radius of curvature 40 cm. Following Cartesian
sign convention, the image distance v and the magnification m are respectively:

Options:
1 % 12.¢cm, —0.4
> R 15¢cm, —0.5

5 o 12cm. 0.4

4 % 15cm, 0.5

Question Number : 80 Question Id : 16800080 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:

| » 12 #dERT, -0.4

, » 15 TEHARR, 0.5
. v 12 ¥R, 04

, » 15 ¥R, 0.5

Question Number : 81 Question Id : 16800081 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘What is the total number of atoms present in 17 grams of Ammeonia (NH3z)?
Options:
| & 4%6.023 %1053

> % 2%6.023 x 108
5 % 3%6.023 x 108

4 % 5%6.023 %108

Question Number : 81 Question Id : 16800081 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

17 I FAfAr (NH) # 3ufeud Fof qeAmupst @ §e&ar fohaedr g
Options:

| v 4%6.023x 1023

. % 2x6.023x1023
5 % 3x6.023x 1043

4 % 5x6.023x 1023

Question Number : 82 Question Id : 16800082 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following non-metals is trivalent?
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Options:
L% Oxygen

o  Nifrogen

= #% Chlorine

4 % Bromine

Question Number : 82 Question Id : 16800082 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frafef@a & @ #ia @ sug BagsT 32
Options:

| % HTFESA
o v TTEEA
3 % FANIA
4 % TS

Question Number : 83 Question Id : 16800083 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following represents the formula of an ester?

Options:
; % RCOR

> v RCOOR
5 % ROR

g W R-H

Question Number : 83 Question Id : 16800083 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tafef@a & ¥ #i7 @ RBeeT e #1 g7 a2iar 87

Options:

, %= RCOR
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., v RCOOR
- » ROR

4 ® R-H

Question Number : 84 Question Id : 16800084 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is the functional isomer of CH3OCHj3 (dimethyl ether)?

Options:
, ® CH3COCH;3

»  CH3;CH,OH
. % CH3;COOH

, % CH3CHO

Question Number : 84 Question Id : 16800084 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T=faf@a 7 @ #i7 @1 T CH30CH; (AT SwR) &7 SFacas gaEadT (3aaE) 87

Options:

"% CH3COCH;

1

. » CH3CH,0H
. » CH3COOH

, x CH3CHO

Question Number : 85 Question Id : 16800085 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following hydrocarbons is unsaturated?

Options:

, % Cyclohexane

> « Benzene

5 % Propane
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4 % 2 Methyl Butane

Question Number : 85 Question Id : 16800085 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 86 Question Id : 16800086 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is NOT a form of traditional Indian theatre?

Options:
1 % Raasleela

- % Yakshagaana

4 % Maach

Question Number : 86 Question Id : 16800086 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TaEa 7 9 #iF @1 TRus 9RaF AcF & T &9 78 87
Options:

1. % MREIE]

5> % Haiale

3 v e
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4.33341?

Question Number : 87 Question Id : 16800087 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When did the Chauri Chaura incident take place?

Options:
L % January 1920

5 % August 1924

z % March 1918

4  Febmary 1922

Question Number : 87 Question Id : 16800087 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

aﬁﬁ-zﬁwmaﬁg}nm

Options:

| % AT 1920

- » AT 1918

Question Number : 88 Question Id : 16800088 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Sri Lanka is separated from India by a narrow channel of sea. formed by the and the Gulf of Mannar.
Options:
, w DBering Strait

> % Davis Strait
z « Palk Strait

4 % Hudson Strait

Question Number : 88 Question Id : 16800088 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical
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SEFT FT TG W JUF FI ATl FHGE HT FbI0T AT AT A= Fr @ gEnr =ET 2
Options:
| » ST SISATACT (Bering Strait)

. » STH FFEATHET (Davis Strait)

2 T FesATHAYT (Palk Strait)

4 % 838 SelEHAEHAT (Hudson Strait)

Question Number : 89 Question Id : 16800089 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to the Union Budget 2017-18, existing rate of taxation for individual assesses (resident or non-resident)
between income of 2.5 lakh to 5 lakh is reduced to from the present rate of . for the assessment year
2018-19.

Options:
1 5%, 10%

4 % 2.5%, 10%

Question Number : 89 Question Id : 16800089 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

FErT g3¢ 2017-18 & AR Mool I 2018-19 F AT 2.5 @ & 5 o@ aF 1 AT Tl hioFaed
weranat (e ar sfeard) &g wrue & @ # THAF X T TEET T & TE g

Options:

| » 5%, 10%

, x 0%, 10%
. x 2.5%, 5%

. % 2.5%, 10%

Question Number : 90 Question Id : 16800090 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to the Constitution (101%' Amendment) Act, 2016, who is the Chairperson of the Goods and Services Tax Council?
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Options:
1 % The President of India

> % The Prime Minister of India
% « The Union Finance Minister

, % TheMinister in charge of Finance or Taxation

Question Number : 90 Question Id : 16800090 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tfgre & (1015 Heivers) sfafaaesr 2016 F aqer avg 3R Tar o oftwg F sremer @ia 22

Options:

| % SRA & T
5 % HRA & FUTHHAT

4w Tocd IT FUTT & T FJIT

Question Number : 91 Question Id : 16800091 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ronald Ross® Nobel Prize win in 1902 was in relation to which common disease?
Options:
1 +« Malaria

> % Prostatic Cancer
=z % Tuberculosis

4 % Polio

Question Number : 91 Question Id : 16800091 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1902 # UaTes TH & for 3w Aol & oy & dAger [ yrog faar or?

Options:

| T
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TeAT (TTSFGATEH)

3 ®

4 % Siferdr

Question Number : 92 Question Id : 16800092 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following authors has won the Man Booker International Prize 20177
Options:
1 +« David Grossman

> % Ismail Kadare

- % Roy Jacobsen

4 % Mathias Enard

Question Number : 92 Question Id : 16800092 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 93 Question Id : 16800093 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which country did athlete Michael Johnson represent in the XX VI Olympic Games?
Options:
1 # China

> % Australia
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3 « United States

4 % Brazil

Question Number : 93 Question Id : 16800093 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 94 Question Id : 16800094 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following Padma Bhushan 2017 awardee is NOT an Indian citizen?

Options:
1 % Tehemton Udwadia

> % Cho Ramaswamy

= « Maha Chakri Sirindhorn

4 % Zubin Mehta

Question Number : 94 Question Id : 16800094 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

aY 2017 & TFAolf@d 93 00T REFR Ieahd3i H § Hid HRAT AR A6l g7

Options:

| % T@HSH Jearedr

o % T JTATEITAT

-  HET eI AR
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4 % ﬂﬁﬂm

Question Number : 95 Question Id : 16800095 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is the main musical instrument played during a Manipuri classical dance performance?

Options:
1 #% Ukulele
> % Kamancheh

= % Surando

4\3:.-.Pung

Question Number : 95 Question Id : 16800095 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Hﬁ‘l‘g‘-ﬁ' AT FoT FEIT & R FSAT A el q& ey AT & o saar &2

Options:

Question Number : 96 Question Id : 16800096 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a certain code language, ‘CHENNAI" is coded as DIFOOBJ. Find how is ‘MUMBAI’ coded in that language?
Options:

1 ® NVCNBIJI

> % NUNCBJ

s « NVNCBJ]
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4 % NUCNBJ

Question Number : 96 Question Id : 16800096 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T Tahd AT F ‘CHENNAI' & DIFOOBJ &F &9 # forgr rar 81 39 amr # ‘MUMBAI' &r 38 9o
forgr ArTa?

Options:

. % NVCNBJ
., % NUNCBJ
- v NVNCBJ

. » NUCNBJ

Question Number : 97 Question Id : 16800097 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Complete the analogy.
ABCD : GHIT : : PQRS :
Options:

1 % UVWX

> o VWXY

5 % WXYZ

4 % WVXY

Question Number : 97 Question Id : 16800097 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TEIT H T H

ABCD : GHIJ :: PQRS :
Options:

. % UVWX

o« VWXY

5 % WXYZ
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4 % WVXY

Question Number : 98 Question Id : 16800098 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select from the options the word that has a similar meaning as that of the words on the right and left side of the
brackets.

CUT { ) OPENING
Options:
, % Sharp

-~ % Puncture
= % Wound

4 o Slit

Question Number : 98 Question Id : 16800098 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

RFear # ¥ 37 e F1 T97 FY oG ¥ F53F & g 3T 0 M2t & JT & FAA 27
CUT (___) OPENING

Options:

, = Sharp

> % Puncture
=z % Wound

. v Slit

Question Number : 99 Question Id : 16800099 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the set of letters that, when added as suffix to each set of letters in the image. forms a meaningful English word.

Pla
T \

Csz%

W,

=)

Options:
1 #® n
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> % ier
s # net

4 ¢ It

Question Number : 99 Question Id : 16800099 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T F 3H FAG T T9A Y o =T H T 7T g3F W-THE F WY ToAT F T H ASA W TF
TS ST e 9 ST &

Pla
Te% (=)

Cou
C37
W

Options:

1 ® thn

> % ler
z % het

4 ¢ Nt

Question Number : 100 Question Id : 168000100 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the number that would complete the series given below:

3.9, 18. 54, 108, 324,

Options:
1. 648

> % 684
z ® 726

4 % 432

Question Number : 100 Question Id : 168000100 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 HEAT FT T84 & A A &7 T WA B QT W o
3, 9, 18, 54, 108, 324,

Options:
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| v 648
, « 684
s % 726

. w 432
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